Population Size = 200

City Count = 20

Number of Generations = 2000

Mutation Rate = 0.035
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Population Size = 200

City Count = 40

Number of Generations = 2000

Mutation Rate = 0.035
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Population Size = 200

City Count = 50

Number of Generations = 2000

Mutation Rate = 0.035
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Population Size = 200

City Count = 50

Number of Generations = 2000

Mutation Rate = 0.045
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Population Size = 200

City Count = 80

Number of Generations = 2000

Mutation Rate = 0.045
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 Population Size = 300

City Count = 50

Number of Generations = 2000

Mutation Rate = 0.035
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Population Size = 300

City Count = 70

Number of Generations = 2000

Mutation Rate = 0.035
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